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1B~98 |1B~98 |1B~98 | 1B~98 e ETHBN
i 1,910 1,929 21 14 19 (1.0) =7  (-33.3)
HEE 516 551 3 1 35 (6.8) -2 (-66.7)
B & 178 185 0 0 7 (3.9) 0 (0.0)
a3 44 57 0 ol 13 (29.5) 0 (0.0)
=R & 96 86 1 1l -10 (-104) 0 (0.0)
JRERZE 253 270 10 7 17 (6.7) -3 (-30.0)
+x 60 70 6 4 10 (16.7) 2 (-33.3)
g 114 118 4 3 4 (3.5) -1 (-25.0)
Z Dty 79 82 0 0 3 (3.8) 0 (0.0)
E RS E S 248 269 2 1 21 (8.5) -1 (-50.0)
|58 B g ot 221 245 1 1| 24 (109) 0 (0.0)
B EikE 21 23 0 1 2 (9.5) 1
LAES 29 36 0 1 7 (24.1) 1
BREKFEZE 86 79 1 2l -7 (-8.1) 1 (100.0)
GES 281 235 0 ol -46 (-16.4) 0 (0.0)
I 216 181 0 of -35 (-162) 0 (0.0)
et e Ek 78 76 0 of -2 (-2.6) 0 (0.0)
ZDith 398 390 5 1 -8 (-2.0) -4 (-80.0)
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1B~12818~128|1A~128]1B~12p| TEHEAD | FHTHERD
&t 2,870 2,845 33 26| -25 (-0.9) -7 (-21.2)
RS 813 782 2 4| -31 (-3.8) 2 (100.0)
B 232 247 1 0 15 (6.5) I (=100.0)
92 84 70 0 ol -14 (-16.7) 0 (0.0)
RN S 141 145 0 1 4 (2.8) 1
[ 2 350 364 12 11 14 (4.0) -1 (-8.3)
+k 82 80 5 6 2 (-2.4) 1 (20.0)
R 167 165 3 5 2 (-1.2) 2 (66.7)
ZDith 101 119 4 0 18 (17.8) 4 (-100.0)
EL RS LE 3 389 369 7 2l -20 (=5.1) -5 (=71.4)
BB B Pk 346 332 6 1 14 (-4.0) 5 (-83.3)
HYEIRE 28 26 1 0 2 (-7.1) 1 (=100.0)
EERREE 49 47 2 0 2 (-4.1) 2 (~100.0)
BEKEZE 153 119 1 1 34 (-22.2) 0 (0.0)
GEES 379 419 5 3| 40 (10.6) 2 (-40.0)
e 306 318 4 3l 12 (3.9) 1 (-250)
=R RS 131 138 0 0 7 (5.3) 0 (0.0)
Z D1t 578 581 3 5 3 (0.5) 2 (66.7)




